V7 WMaths Knowledae Oraaviser Topic 12 Percentanes 4

wWhat must T be able to do?

Key vocabulary

[ Waderstand percentage as a fractional operator with
devowmivator of 100

[ Express a part of a whole as a percentage

[ Convert between fractiovs, decimals and percevtaces
Sparx M2.e4

[l Fivd fractions and percentages of given quantities
Sparx MeAas, Med4, M437, MAps

0 Fivd the whole givew a part and +he percentage

[ Iwcrease and decrease by a percentage
Sparx M476, M532

[ Calewlate simple interest

Percentage | A vamber or ratio expressed as a fraction

out of 100.
Per-cent means per-havndred (or out of
100).

Convert To chavge between percevtaces, decimals
and fractions whilst keeping the value

the same.

Twerease To increase something is +o make i+

larger.

Decrease | To decrease something it to make i+

sinaller or to take something away.

Iwterest Twterest is a percentane iwcrease on a

value over a period of time.

Express as a percewtane %o

Nov calculator: Write as a fraction avd thewn rewrite i+ as aun
equivalent fraction out of 100.
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Converting betweewn fractions, decimals and “los

Any fraction can e written as a decimal or as a “lo and vice
Versa.

Fraction | Decimal “To Fraction | Decimal “To
l 0.5 50% 1 1 100%%0
2 1
l 0.25 2.5%0 é 0.75 F5%0
4 ' 4 ‘

l 04 1090 E 0.2 2.0%
10 10
1 0.2 2.0% % 0.4 400
5 5
L 0.01 1%%0 i 0.02 290
100 100
l . - 2 , o
3 0.5 V\ 223.3% g O.@b\ ©e.6%0

Recurring symbol (the dot). Not the same as 0.2 or 0.6

o To+turu a fraction into a decimal we divide +he
numerator by the devominator.

o Toturn a decimal into a “lo we multiply i+ by 100.

o Toturn a %o nto a fraction, just write it as a fraction
out of 100 and simplify.

5 625 125 5

NN -_= = = . = N ”7 = —_-— = — = -

&9 & 5+0=0625=0625% o0 - 200" B
Using a caleulator X100 X2 +25

Finding a percentage of an amount (vow calc)

To find this 7o of an amount:

o 50% we divide by 2. (as 2 x 50%% =100%)
e 25% we divide by 4 (as 4 x 2577 =100%)
e 107 we divide by 10 (as 10 x 1077 =100%%)

o 1% we divide by 100 (as 100 x 1770 =100%%0)

we can use these o find other “os by dividivg/multiplyivg
or combining with other known “os : e.9.

5% is half of 1077 <o to find 570 we find 10% and + 2.
30% is 3 lots of 107 so find 10% and multiply by 3

75 is 50% plus 25 so we find 50%% and 2.5 then
add thewm tonether,

Tucrease avd decrease by a percentane

Find the percevtage vou are looking for and +hen for an
increase add it to the original value or for a decrease
sultract it from the origival value.

e.9. Increase £12.0 by 20%%.

107 of £120 15120 +10 = £12

3070510 x 2 = £12x 3 = £36

Therefore the vew value is £120 + £26 = £156
e.0. Decrease £72 by 1%

50% of £721s 72+ 2 =£20

10% of £32.1s 72 +10 = £7.20 507 plus
2.0%0 plus
20%0 is £7.20 x 2 = £14.40 1% = A%

1% is £72 + 100 = £0.72 /

So M is £36 + £14.40 + £0.72 = £5112
Therefore +he vew value is £72 - £5112 = £20.50




